Can I solve multiplication problems?                                  

	1. There are 10 rows of 6 chairs in the hall. How many chairs altogether?



	2. There are 5 pencils ! on each table. How many pencils are there on 7 tables? 


	3. Sonny has 6   2p coins. How much money does he have in total? 


	4. There are 5 stickers in each packet. Ali buys 5 packets. How many stickers has he got in total?


	5.  Lisa has 9 10p coins in her purse. How much money does she have altogether?


	6.  There are 2 sharpeners in each pot. How many sharpeners in 8 pots? 


	7.  There are 10 baskets of apples. If there are 5 apples in each basket, how many apples are there altogether?





 



Answers 

	1. There are 10 rows of 6 chairs in the hall. How many chairs altogether?          60 chairs



	2. There are 5 pencils ! on each table. How many pencils are there on 7 tables?        35 pencils



	3. Sonny has 6   2p coins. How much money does he have in total? 12p


	4. There are 5 stickers in each packet. Ali buys 5 packets. How many stickers has he got in total? 
25 stickers 


	5.  Lisa has 9 10p coins in her purse. How much money does she have altogether? 90p


	6.  There are 2 sharpeners in each pot. How many sharpeners in 8 pots? 16 sharpeners


	7.  There are 10 baskets of apples. If there are 5 apples in each basket, how many apples are there altogether?
50 apples























